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(1) TR FEIEFT 100 AFEE T9 oTRa.  IReanit wewi! St feferas qeam suags] a1 g qfeeh we

I ST AT, S ———
(2) 3 TS sk i B A 3 . ’Paim
7 foaar atau= fogman ST Heheret

() B T Kiehl shHieh TH=A1 ITdiashen fAfSTe STl St Thedie FE-9Aml 7 fawwar T9g wyal.
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TS WS S STAULT 3T 378, W SASidte fohen AITgteies TYTHEd QEuTe iyes sTerdT
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AT wetar.
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TISSUs! T fa2e T o G6g geeaH WiwRs Ft, 1857 =1 I8@ st fage T3 ¢
33E’ BT ¢

(1) e Eoat (2) @€ Him

(3) fooom e (4) S fegrma

The following leading British Parliamentarian and Politician admitted that the Revolt of
1857 was a National Revolt and not a Military Mutiny :

(1) Lord Dalhousie (2) Lord Canning
(3) William Gladstone {4) Benjamin Disraeli

" TR WA A SIe R AT, FETRE! ST wEE e SR AE, w1
YT I FEHT 813 13" - 31 A 1940 Hid! HIoft et ?

(1) 9dE T Hi0g

(2) Hftew &
() e tfear ¢ e FRT (09eF)
(4) &g Temw

Which organization passed the following resolution in 1940 ? “India should not take part

in a war which will neither bring freedom or democracy, nor will the workers benefit in
any way from it.”

(1) Indian National Congress

{2) Muslim League

(3) All India Trade Union Congress (AITUC)
(4) Hindu Mahasabha

TR Home! FORIGH FHIET wSet g

(1) e = =R (2) FAE S A

3) wREA= ied (4) = A it
Gandhar art was influenced by art.

(1) Greek and Chinese (2) Unani and Romaﬁ
(3) Persian and Greek (4) Chinese and Persian

THoedT IHTETS A /SPACE FOR ROUGH WORK
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4. TS ITARIHE IUANT GG AT :
(a) Tore et (b) 73
(c) = fwm (d) WEA (SFTIEEIET FEIA)
(e) oS (Fyelaiy graFen)

FBUHT IV /IO G FH A STARTEE! ArqedTd A ZauTs’ § e FevdE!
IS ST/ ST ST ?

1) (@) (2)  (b) (3)  (c) M (e) 4 (4

List of the species useful for the treatment of diseases :

© (a) Willow plant (b)  Yew tree
(¢} Dog fish (d)  Wine (Ancistrocladus korupenis)
(e) Frog (Epidobates tricolor)

Which species is/are used for the isolation of “taxol” which is used for the treatment of
cancer ?

(1) (@) (2) (b (3) (0)and (e) (4) (d)

5. WY P YEAWiE YR 3R (e a9 aireg el yare T adm.
(a) AGd, Aeid 79 TEFAE AR
(b) g TEIAIER Rieqwme Y
(c) fogam, aguE swen wfewhe) T fawm
(d) T IS SR
1) () (d) 2 (b)) (3 @ © (4) (a) (d)

We find the following two specific trends at the beginning of the middle age in Indian
History.

(a) Rise of philosophies like Advaita, Vedanta.

(b) Progress in sculpture as per Buddhism

©

Development of temple towns like Chidambaram, Madurai

d) Trade with Roman empire

(
1) @© (d) 2) () () 3} @ () (4 (a) (@)
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6. TRME HERYTSA Sea@iE SfEE wiv ?
(1) ®rE WG TITEAT S v,
(2) EEHEA s TEA A FET HO.
(3) iAW ufEed HEEE! e e,
(4) Safads gemE Twiaa F.

What was the aim of the Civil Disobedience Movement ?
(1) Paralysing the administration by taking law into the hands.

(2) Make the government concede more demands.

(3) Secure a place for the Congress in the Round Table Conference.
(4) To popularise individual Satyagraha.

7. WIOGUs! HIVAN THEHR Teodaial U1 T ?

(1) v TiEewhr (2) EEEES SEER

(3) TR FSEIS FEHR (4) F TR

Which of the following was not a part of the Non-cooperation Movement ?
(1) Boycott of schools (2) Boycott of the courts

{3} Boycott of the foreign cloth {(4) Non-payment of Tax

8. FEn g e dfes e S S

(a) A (@ fom

(b) TES () oW

(c) aAfaHi (i) FE=!

(d) fomen : (ivy T
(@ () (9 ()

1 @ @ @) )

() Gi) @ Gv) (i)

(3 (@) (v) @) (@)

¢4 (v) @ (@) ()

Match the rivers with their vedic names.

(a) Sarsuti (i) Chenab

(b) Parushni (i) Jhelam

(c) Asikni (i) Saraswati

(d) Vitasta (iv) Ravi
@ ® (© (@

1y 0 @ @) @)

(2) @y @ @) @

3) (@) @v) (@ ()

4) (v) @ (i) ()
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(a)

(b) U9 ARAE JfRTT ThIaT Fogl.

(c) T ATwER STl see Aty sy g,

(d) oTHHE F VG oM Bh B a.

1) @, ® (2)  (b), (d) () (o @)

North Indian powers were defeated at the hands of invaders from Central Asia because :
(a) Indian soldiers could not hope to get plunder.

(b)  There was no unity among Indian soldiers due to casteism.

(c} Central Asian soldiers had more modern weapons.

{d) The invading army was led by slaves.

1) (@), (b} 2 (b (D) 3 (. () 4 @) ©

10. <TIEEIS TEEaeEd Je@uh! Sl Py wre AR ?
(a) 1 WEATYEl 8 @R AT SETE TE E.
(b) T G WRAE fage uiydT ATIaTE e,
() e R ford wift aRamEEl e TNt SR Hige.
(d) ‘‘HO ArHE S STAERGE I, T "TECRaE] #H Hell s e ol o

)
)

A Bl
(1) (), (b), (d) 2y () (b)) (o)
(3) (@) {0 (d @ M), © @

Which of the following statements about Jawaharlal Nehru are true ?

(a) He chaired the Planning Commission before and after independence.

(b)  He presided over many sessions of Indian Science Congress.

(c).  Authoring the Nehru report, he drew an ideal outline for Indian government.
(

d) “Ifeellike an exile in the West, but sometimes I feel I am an outsider even in my own
country.” He felt.

1) (@) (b). (d) (2) (@) (b) ()
(3} (a) (o) (d) @ (b), (o), (d)

FHEAT ARG ATT /SPACE FOR ROUGH WORK

wrenss StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

A

11, TiE- st s S 9 e ?

)

Ul RIS ARTUa] Jrar e,
fHeTeilo L T8 A,

TSI HIH SR TS e
U] FEE! ATE.

What was the outcome of the Gandhi - Irwin Pact ?

(1) The demand for Purna Swaraj was accepted.
(2)  Salt tax was abolished.
(3) Gandhiji resigned from Congress membership.
(4)  None of the above.
12. HISTHY A FAL
(a) Hfeew SR Ygw Radven faai=n =il wo wEwae gEd Ko
(b) IS TEHRNS TH guid T8& U Eervart 95q fal,
(c) TER fuEvg FHE Hul WAt TR Ha.
(dy TS fHeT 9EnE gF Sl
1) (@, (), (), (®) (2) (@ (b)@ @ @ ©.@ @ d @ (@) b)), d

Arrange in chronological order.

Muslim League gave preference to the Fourteen Points of Jinnah rather than the
Nehru Report.

Congress asked the government to accept the Nehru Report within one year.
Congress demanded ‘Purna Swaraj’ (Complete Independence) in the Lahore session.

Gandhiji started Salt Satyagraha.
(@, () (d), () ) @) ®) @ € © 6 ©d @ (@)

THedl HIHHG WRT /SPACE FOR ROUGH WORK
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13. 9. 1927 Y&l WEAT HHITH T TS HR :

(1)
(2)
(3)
©)

Simon Commission was appointed in 1927 because :

(1
2)
(3)
(4)

8

1919 Fiel AITg SRS FEel 504 3T g
He[{ SIS TG S0 T A JRATS! 3JHe 0T STEvar=! ¥t 2.
TS TITAT ATecd] TYTETeT ie =160l TS 2.

EHCR:CH

1919 Montegue-Chelmsford act could not achieve much.
If the labour party was to come to power, they would bring pro-India policies.

It was necessary to thwart the increasing prominence of Swaraj Party.
All the above

14. TS [Gamas sl dieEl.

(@)
(b)

(c)
d
1

(3

o

—

)
)
)

1 e qase fieushr (argfavRe) =omn.
e o I @i e A gedee qager 9Wie (Uncrowned Emperor of Mumbai)
Heo.

T TS, SUSH o WERd W SR el

o USRS Hiow at aid ITHI/HW 3.

TRTS RIS (2) EL TEEH
SY EH U (4) TRHERT 3L

Name the person described below :

(a)
(b)
(©)
(d)
(1)
()

He is called the architect of Mumbai.

Acharya Atre called him “Uncrowned Emperor of Mumbai”.
He was excellent in Marathi, English and Sanskrit.
Elphinstone college owes a lot to him

Dadabhai Naoroji (2) D.P. Tarkhadkar
Jagannath Shankar Sheth (4) Balasaheb Thakre

15. ‘@l 9gd’ ®IS gt ?

(1)

HUSATR 2) @A 3) foamsd (4) wHT

Where was ‘“Khoti System” being implemented ?

(1)

Marathwada (2) Khandesh (3) Vidarbha (4) Konkan

THeAT HINTATS | /SPACE FOR ROUGH WORK
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16. TF YOSt ¥ UH AH0 R | YefaearE vEaite aiEar S e g O fHaeie qeie 9

HYA :

(a) TEREH AL (b) BT TS
() FEH (d) wifead Hiside
(e) Hicerm Tethe

(

1) @ ) @ 2) () (© W) (3) (@) (b) (e) 4 (@) (o) (d)

Gun powder is a mixture which when ignited a number of chemical reactions take place
producing explosion. It consists of :

(a) Potassium nitrate (b) Powdered charcoal
(c) Sulphur (d) Sodium Carbonate
(e} Calcium Sulphate

1 @, O © (2) (b)) (d) () @ (b)) 4) (@) () (d)

17. W@ a9 faum Jee

(a) WG Wl HIOTST FE SIS IuSSdar €9 1951 =T 0.48 ¥R YA 1991 T49 0.16 TR
TEEt FT {9 @ 2035 T 0.08 ¥ WA @IS AUAET Il AT,

(b) FH G ITed FHHT FVATH TIE FRU ACd SR  FY A STHH AAFS

ol SR,

TR HIT! TR e Tmed ?

(1) (b) Taum =3 (a) TR

(2) (a) T94™ I (b) L.

(3) T faum SR I (b), (a) T FROHTGT .

(4) =t faum SUe 9 (b), (a) =T HROHHEE €4 L.

Consider the following two statements :

(a) InIndia per capita availability of agricultural land has declined from 0.48 hectare in
1951 to 0.16 hectare in 1991 and is projected to slide down to 0.08 hectare in 2035

(b}  The decline in the extent of agricultural land is mainly due to increase in population
and diversion of agricultural land for non-agricultural purposes.

Now state whether :

(1) (b} is a correct (a) is not ‘

(2) {(a)is a correct (b) is not _ k

(3) Both are correct and (b) is a correct reasoning of (a)

(4) Both are correct but (b) is not the reasoning for (a)

THeeAl HIUTATS I /SPACE FOR ROUGH WORK
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18. T T WY AHGT=A1 URW SGATS 63% @il d@ T 80% T aR= 3eved 2. .
@1 4 TEAYYH 1974 99 4 SIS, § @S 90 B0l HloEH 3 ?

(1) semsra (2) TEEE (3) ToEEH (4) BEEE

Mumbai Hizh accounts for 63% of petroleum production in India and produces about

80% of India’s natural gas. The ONGC struck oil here in 1974. To which period does this
oil belong :

(1) Eocene (2} Miocene (3) Pliocene (4) Pleistocene

19. TEIo &A= e fo=m w4

(a) ifest wela (b) s

(c) TSR CARGELR

TSR IO ' SRS | S 7

(1) ™ (a) (2) (@) S (b)

(3)  (b), () >nfEr(d) @ (@ ©) (o) o (d)

Consider the following areas :

{a) Andese Mountain (b) New Zealand

(c) Philippines (d) Taiwan

Which of the above form a part of ‘Ring of Fire’ ?

(1) only (a) (2) (a) and (b)

(3) () and (d) ) (@), (b), (© and (d)

20. & U TYU YARE A -SRI FG 3TEd.  WIoieuhl ST Y-IHER T
ATIEAT ILSAT ZOATd THI0T 6L AR 2

(1) w3 (2) 9EE (Rapids) (3)  HEeEl (4) TIMRERE

A river produces various landforms during its entire course. Which of the following
landforms is not produced by a river in its upper course ?

(1) Gorge (2) Rapids (3)  Water fall (4) Spur

HoAl HIHTHTET ST /SPACE FOR ROUGH WORK

wrenss StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

A 11

21. WOT THE @ W AAREIER SOl HH oL

(a) wETIA (b) Fom (c)
1)y (b), (@, (d), (©) (2} {b), (d), (c), (@)
(3)  (a), (b), (d), (0) 4)  (a), (©), (b), (d)

Arrange the following rivers in descending order of their basin area :

(a) Brahmputra (b) Krishna (c) Tapi (d) Kaveri
(1) (b}, (@), (d) () (2) (), (d) (o) (@)
3) @) (b (d) () @ (@) (0 () (d)

22. IV YN S faan R umesig it B ?
(1) e fays wew (2) Ufcewe
(3) TS (4) TwIS

In which areas settlement distribution will be decided by flood water level ?

(1) Narmada delta (2} Rohilkhand
(3) Malwa (4) Ramnad

23. T SIS AOEE 2° 9, 96 1 Yol Wioteis] S TRemy gvaEt e 3T 7
(a) fEH R
(b) HITHIYS BN AR 8 W
(¢} It fasrTa sEe
(d)  STOR ST ST ST WS A S S
1) (@), (b), () T (d) 2) (@), &) F (o)
(3} (b), ()T (d) (4) HH (d)

If global temperature rises by 2°C, which of the following effects can be seen on the
earth ?

(a}  Annual flooding
{(b) Insect born diseases like Malaria

(c)  Shift of agricultural regions

(d) Several species of plants and animals will become extinct
(1) (@) (b), () and (d) (2)  (a) (b) and ()
(3) (b) (c}and (d) (4) only (d)

oAl RIS 9T /SPACE FOR ROUGH WORK

P.T.O.
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24, WO AR Yd Tued weunde an €@d 1 1, 2, 3, 4 SRl SrEiaedn TR,
1 wdd T ATgHHET ae e Tl wH aiEd e 7

e —

Bangla
Desh

o

4
=" West

C"J\., Bengal
NS;/\ i
(1) =T, SEdra, e, T (2) TR, @i, S, et
(3) S, @i, T, st (4) e, T, IO, SEdE

The following map of Eastern Himalayan region shows four mountain ranges which are
numbered as 1, 2, 3, 4. Which of the following sequences of these mountam ranges from
West to East is correct ?

(1) Barali, Jayantia, Khasi, Garo (2) Garo, Khasi, Javantia, Barali

(3) Javantia, Khasi, Garo, Barali (4) Khasi, Garo, Barali, Jayantia

THEAT H/IHETS! SR /SPACE FOR ROUGH WORK
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25. WO Hvm faE e 3w g e fayagd s e AR 2

(1) 39 feames wwa

(2) g WiEE vTHl

(3) g WREE (Uniform) a9HM 318
(4) vy ==

Which of the following characteristics does not belong to the hot and wet equatorial type
of climate ?

(1) There is no winter

(2) Afternoon Rains

(3}  Uniform temperature throughout the year

(4) Orographic rain

26. WA WA STcded THIVT ot S I :
(a) IS THIUMER SAUTATER STace T TEu.
(b) T FEavar=AT wHifed 9.,
(c) TR FHYHE Weded <d e,
(d) <G =TE FERYS ATEL

et B FauT S R ?
(1) (), (c) 30T (o) (2)  (b), () T (q)
(3) (), (b) = (d) (4) HH (o)

Fishing in India is poorly developed because :

(a) Dependence on food crops

{b) Facilities for preservation of fish are limited

(c) Government is not giving encouragement to develop fishing
(d) Market is not much favourable

Which of the above statements are correct ?

(1) (a), (c) and (d) @) (), () and ()
(3) (a), (& and (d) (4) Only ()

27.  STICAl SN & 4R U YUiH TIad o, TR1 qurEie watiye &5 ST TS S ?
(1) T (2) W ¥
(3) Hewrg (4) SW AW
Soil erosion has affected large tracts of our country. Which is a state with the largest area
under soil erosion ?

(1) Rajasthan (2) Madhya Pradesh
(3) Maharashtra (4) Uttar Pradesh

el HIATEISI WM /SPACE FOR ROUGH WORK

P.T.O.
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28.  SUTITYA TIEL HIAET SHIA TR a1 fFdt TFF T 2% v 7

(1) 40 % (2) 30 % (3) 20% 4y 10 %
How much percent weight of sugarcane can be converted into sugar ?
(1) 40 % 2) 30 % (3) 20% (4y 10 %

29. W e YRET=N T FEoD SIe (thick) I - gr@fEd

T
‘?\7‘ INDIA
{
\\._\q/

Cg/
™

D

(1)  dig@ 9 g e = wewr= fawism seomd
(2) @ fausE

(3) EHYEHY <ol gofE YW

(4) =@ T TRE AR

The thick line drawn in the following map of India shows :

— 1

‘f““’) INDIA

1

(1) A line separating rice and wheat producing regions
(2) Water divide

(3) Isoseismal line

(4) None of the above

ol SIATES AR /SPACE FOR ROUGH WORK
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30. WEE fauM TREH 9 @[S S0 4 A G g
(a) RAWE M 981 Tolid oS oot TR,
(b) T M= TR AT Folh .
(c) Ta=ar smrsTel Weerelt HRT 2 farid WEd - - S T -ae.
(d) @TEE 7T Wi v STfus goien STEd.
(e) TMer=AT Yoo Y THNY Gy, HRiehiRa ATHe & @Ed 3.
() e Yo S, W, TE T HSUHI ST 0.
1) (9 () (d) (3) (® (4) wE TR
Consider the following statements and state what is not frue of the Alluvial Soils ?
(a) Alluvial soils are most widely spread soils.
(b}  Alluvial soils as a whole are very fertile.
(c)  On the basis of their age they are classified into two - old : Bangar and new : Khadar.
(d} Khadar soils are more fertile than Bangar
(e)  Alluvial soils contain adequate proportion of potash, phosphoric acid and lime
{(fy  Aluvial soils are ideal for sugarcane, paddy, wheat and pulses
@ © @) (d) 3y (e (4) None
31, YRAE HTE IR IEISTH
(a) = (b) R faan (c) Hedst
() e (e) WIEI® () <A A
FAGIET IV /I Tl T HIE /A0 AR/ 3 ?

(1) % (b) (2} 9 (o) (3) X (d) 4) () sufor (f)

Some of the species from India are as follows :

(a) Tiger (b) Indian cheetah (c) Salemender

(d) Gibbon (e} Great Indian Bustard (f) Two horned Rhinoceros
Which is/are the extinct species from India ?

(1) only (b (2) only (c) (3) only (d) (4)  (b)and (9

THoeAT BTSN I /SPACE FOR ROUGH WORK

P.T.O.
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32.

33.

16

gau-wred faum

(a) WafTEiEn SR aTde STeen quarTe gl €.

(b) U ¥ qfES UVHE B0 A0 wrAed fetEn SNy wA Seed woedn aeir
o B,

(c) FUNUINe qUR SohedT SaTeeral U 81 o7 UM SUAlT 813 HIel<a1 SEEet qivs 3@,

(dy gUIad Uit F AT T ST M HSGIEN FhaT 7 hdl HFat Sas AR 31,

TGUH! I/ HIo faer/ faam sier ama ?

(1) T (a) (2) T (d) (3)  (b) I (c) (4)  (2) =0T (d)

Statements about Eutrophication :

(a}  The eutrophication occurs in lotic water body primarily in hilly region.

(b) The eutrophication occurs in lentic water and there is gradual accumulation of
organisms and their products.

{¢) The eutrophication promotes fish growth as algal blooms serve as source of food to
fishes.

(d)  The eutrophicated water is oxygen rich and safe for human consumption without
treatment.

Which is/are the correct statement(s) ?

(1) only () (2) only (d) @) Gand@© @ @ and (@

WA feeres dramereet g Hel fagid ey

(a) &S farade fogia

(b) HW TET=T SFER i fagid

() T favaes fagid

(d)

e a1 o [Aaesd geheam fhor e =d1d, == 9eaan A fagid

TG FEeT=1 FHivel TS aR 7= Jod TReE T 967 JeE) STURA %o Joudie
B FHIOT S0 Stigre Aty g 68 A0 ang?

1)

(a) (2) (b} () () 4) ()

Following are some theories of climate change given by scientists :

(a)
(b)
()
(d)

Sir George Simpson theory.

Theory based on sunspot cycle.

Astronomical theory.

Variation in the quantities of radiation absorbed by atmospheric gases selectively.

In which theory of climate change, the five principle effects are considered and mathematical
model for expansion and contractions of ice sheets has been given ?

(1)

(a) 2 (b (3 ( 4 (@
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34, FICEIYA TS asfained Wi e Sl ael
(@) TTIEA - daTg FEId R
(b) FrefterT - wg feanra
(© A - 2w el
(d) TERYE - FEgeHy ARG eI
Afen SIFM! TTEAS TR FTgH, TOained Ghid SN ¥4 fiefae 9 @& 9 a8 @
HITAMIS el 7 |
TETS FSIHT FIIA TG TR TR 2
1) (@) 2) b 3 © 4 (4
List of bicactive compounds obtained from plants :
(a} Nicotine ~ from tobacco plant
(b) Nibidine - from neem plant
(c) Rotenone - from derris elliptica

(d) Pyrethrum - from chrysanthemum cincrariefolium
The bioactive compound extracted from plant was used by primitive people for paralysing

the fish.
Which of the above options was resorted to by them ?
1) () () (b) &) (© ) (d)

35. Safafaudren TeHa qeh
(a) ] AT TESToS BIOMT SFHARIET FTH.
(b)  YGIUIHES BIUIRI SH A= 6.
(c}) TR &,
(d) I = e U v
(e) TSI AT I
FUBUHT U/ HIVG TTF U § THAEAH FHUrE fowvrE Safafaua wH7 Svar wiea
TN HROAYE 31/ 3.
1) W () 2 @i (@) i@ @) )
Aspects related to the loss of biodiversity :
(a) Habitat loss due to change in land use.
(b) Habitat loss due to pollution.
(c) Predation.
(d} Outbreak of diseases and epidernics.

(e) Excessive exploitation of species.

Which of the above is/are the major causative factor(s) for decreasing biodiversity from
aquatic habitat ?

(1) Only (d) (2)  (a) and (d) (3) (¢)and (a) (4) (b} and (e)
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36. st Tifisw fadenem 1997 & s el ST Sl ?
(1) e fadwi (2) et Sl s
(3) cETEER e (4) wFEl T fRws

Which of the following was replaced by multi-dimensional poverty Index in 1997 ?
(1) Consumer Index (2) Indian Poverty Index

(3) Below Poverty Index (4) Human Poverty Index

37. YRAEE YSTHER URUT R0 @@eaa! hivd S e ?

(1) Fedigde U (2) weEE e

(3) o fad (4) WEHEA WAl

Which of the following was not an objective of land reforms policy of India ?
(1) Tenancy Reforms (2)  Abeolition of Intermediaries

(3) Agricultural Finance (4) Co-operative Farming

38, woe faum Faem smrm fodea wwd Sigar=n sicemMaHt e,
(a) WIRATHIE Hewaredl TAHEd TG Thaw oe fea.
(b) TG TfEde ue & uHi SiEEren wehan afvs o
(c) ETETET X T fenrae w_w, giiaron anfr faeraed amet o,
(d) RIS HETH SwsEe 7 e eI A A1 e ATeA.
FUSIH! vl faum e smed ?
(1) (a) &M (c) () o w (3)  (b) 31T (c) (4) (o) s (d)

Following statements are regarding Planning Commission’s estimates of poverty.

{a) Poverty is showing high concentration in m‘ajor states of India.

(b) Rate of fall in urban poverfy is higher than that in rural poverty.

(c) Poverty ratio has increased in the states of Himachal Pradesh, Haryana and Bihar.
(d) Planning Commission has accepted Lakdawala Expert Group estimates of poverty.
Which of the above statements are correct ?

(1) (a) and (c) (2) Alltheabove (3) (b)and (c) (4)  (c) and (d})

THTHT HIHHIS | /SPACE FOR ROUGH WORK
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39. afds WS fod 9 HIva WISEiS! 0] USHIE WEETE {HICT 3% 9ishd -

(1) ida =nfor sferta & (2) FHAH Il

(3) g faeaEn (4) N FEUd

Which of the following methods of financing economic development can lead to
inflation ?

(1) Internal and External Borrowings (2) Progressive Taxation

(3) Deficit Financing (4) Government Bonds

40. =TT IREd o € o wTordt Toieerden Frde < moTe S 9 2 ST SR
(1) Fifam Sqem=n queiie ITos Tadl.
(2) AN AT THTE S SO0 H30 TR,
(3) @ U TiEw @ FoamE! fd! 3 42 9% e one § eratad.
(4) TUBUR! FIOE AR

Poverty Gap is a better measure of absolute poverty than Head Count Ratio because :
(1} Household income data is not available.
(2} Itis difficult to define minimum health standards.

(3) It indicates total income shortfall that needs to be corrected to remove absolute
poverty.

(4) None of the above

41, Sisgl ATV AT IohidrEl e g 219l 4o @&l dSaeand g i
(a)  IoRIdI U A1
(b)y 3ohial dfaea Fmtor &
(c) T T FAKEFIST TS AY AR
(d)  SAtUhITeh WY = HEAT FEs gl fHafo g,
T® TR I G 2 7
(1} {a) 2) ) 3) (9 (4) ()

When we are considering evolution of species let us remember that

(a) Evolution is progress.

(b) Evolution is generation of diversity.

{(c}  The older designs are not necessarily inefficient.
{d} More and more complex designs emerge.
Which one of the above four statements is incorrect ?

1) (a) (2} (b (3) (9 4 (@

THTTAT SRTATES | /SPACE FOR ROUGH WORK
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42, T #1ef 9eile, #SiET 21 4 @OGYE! FIRA fIUTTG FE H0ATE v fees?
(a) W 9 e mem S) ThE e 3 s wee g
(b) Hfed, T TR 9 FTREER Hoedl ARG HeaT=l SeHe TR0
(c) T S o SHAEA §9 eI aiga,
1) (@ (2) =ewd (3) (b) “4) (9

In which of the fields Agenda 21 of Rio Earth summit promised to pursue action.

(a) Social and economic dimension such as combating poverty and sustainable urban
planning.

(b)  Strengthening the role of major groups such as women, local governments and NGO.
{c} Conservation and management of resources like combating deforestation.

1) (a) (2)  All the above (3} (b) 4) ()

43, YNORS TNHATEEG Jeio [aumier faeur &4
(a) WRAW SIS Haid AiEE A dF IR,
(b)  STRETE e ' 21 Y $1e: " VA HRO = S Y e HH SR,
(c) T GHIE 50% TRYN WA SR
(d) HRANTE g9 THEARIS Ha@IH 50% Scargd ey fifosd.
e o Ty 3T e \
(1) @ () 3 (@ (4) wwE

Consider the following statements about the livestock resources of India :
a) India has the largest number of cattle in the world.

(
{b} Indian cow is called tea-cup-cow as average yield of milk per cow is poor.
(c)  About 50 percent of the worlds total population of buffaloes is in India.

(

d) Buffaloes account for about 50 percent of milk production in India.

Which of the above statements is incorrect ?

1) (b @) () I RCY (4) Norne

el THIHETE AT /SPACE FOR ROUGH WORK
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44. UM SRS HIOT 2000 9 TS I TS
(1) ToeEEYgsh SraTd o= /S e
(2) YT A FH FHIG
(3) OHHEA FgT FH
(4) o ¥
The immediate objective of National Population Policy 2000 is to :
(1) Meet the needs of health infrastructure
(2) Reducing the total fertility rate
(3) Stabilise the size of population
(4) All the above
45. T Ay YRardis REr= Ghedie For e

(a) <IEE= SeHcaT dods= WE[ Weo! 3.

(by e nfor ek a1 S Heheu T AR,

(c) ‘TN 9 (Basket)'' WEfiw &g 30T YAAY 98T HET AT TS IR,
(d) Toeor snfor SRFETeRle G GWfae FIUGHET T69 TEAeme gaEdae e 378,
SR wIvd! faem TH €l Tgost FH=a NETahed TaR SRR 3T 7

(1) () 300 (d) 2) (b (3)  (b) i (c) 4 (d)

Following statements relate to the definition of poverty in India :

(a) Poverty line is defined in terms of calories.

(b)y Poverty and hungef are one and the same.

{c) Poverty Line Basket (PLB) goods and services have been changed over time.

{d) New methodology to include expenditure on education and health is recommended.

Which of the above statements is/are correct as per the definition of poverty given by S.D.
Tendulkar Committee ?

(1) () and (d) (2) (b) (3)  (b) and (¢) 4) (d)
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46. TF 2045 TG SIEHE WHHIV FIUARAST SIS TR ShdEd GROT=E]
VTS 3SR F TR 7
(a) T &L 30 WG 1000 SHIGET FHP HTOM00
(b) T PR T FIH YT H
(c) W WA 80% TEAT0! HEUETH SHEEIA
(d) 100 T FEIT FHfer saRiiwgT= @
(¢) TG HH FUARAT HIIAH FAR 7 A A0

M (@), (), () 30 (d) () (b), (), (d) S (e)
(3) we W (4) (b (o) o1 ()

What are the socio-demographic goals of the National Population Policy to be achieved so
as to have the population stabilized by 2045 ?

(a) Reduce infant - mortality rate to below 30 per 1000 live births.
{by Promote delayed marriage in girls.

(¢} Achieve 80% institutional deliveries.

(d) Achieve 100% deliveries by trained persons.

(e) Legislation to raise the age of marriage to reduce the birth rate.
(1) (2) (b) (© and (@) @ () () (d) and (e)

(3) all the five (4) (b)), (c} and (d)

47. FE 9§ GEHER T FyE A@dm (FEA o) 91 2010 € 2014 A2 TEEUEE §F FO o
e Yo STEion THIAY AW
(a) TAOES (b) ST o e
(c) TTONYREa! Arefav (d) gEmH HSS FAT famg
(e) HINH T oW W
1) @ @)@ d @) @ ®)e)E @) @ O dE @ @« e
Department of Agriculture and Coopefation has initiated a Saffron Mission to be
implemented from 2010 to 2014. What does it involve ?
(a) Replanting (b) Improving soil health
{¢) Strengthening Irrigation (d) Weather Station development

() Enhancing Research and Extension

1} @ b)) 2 @ &)@ & (€ @ b)) @) @ © (@ E
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48, T wiger Gemieior 9o 2000 =1 Y4

(1)
(2)
(3)
)

23

AfonEs] FFSS Fd HeuTe o Aigoiat TR 8 T Hear=
TfgSHI WA gah 37101 Tl THH el g o

ERER]

TSt Food el

The National Policy for Empowerment of Women (2000) seeks to :

(1)
(2)
(3)
(4)

eliminate discrimination against girl child and all forms of violence against women
grant women human rights and equal opportunities in power sharing
both (1) and (2) above

None of the above

49. 1130 Y9 AeMde W F9 (GhE A9 g 3R ®ivd ?

(1)

T HTHS! FH! & 3T eIl HIaw A [aeau[h 6! s <o
WA Fut Frafder gaed <o,

[IERHE! Tgye i 3,

el HIvE! .

The main objective of Rashtriya Krishi Vikas Yojna in 11" five year plan was :

To incentivise the states to increase public investment in agriculture and allied sectors.
To provide incentive to Indian agricultural exporters.
To generate revenue for the Government.

None of the above

HoeAT HIATETST 90 /SPACE FOR ROUGH WORK
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50. Eow [auH Yewsde fasmren fwisn (9.9.3) devide sma.
(a) HFa e w.fa3 = qdar 2015 v wuEE AR,
() W3 = 3 o v gia o | freonsrien den v FwH e,
(c) I AU T =TI,
(d) w3 H.f9.3 eRa.

i IV Taum™ @ S8 ?
(1) =i w4 (2) (), (b) 3 (c)
() (a), (c) =07 (d) (4)  (a), (b) 7fEr (q)

Following statements relate to the Millennium Development Goals (MDGs) :

(a) UN MDGs are to be achieved by 2015.

(b} One of the MDGs is to reduce the world’s population suffering from lack of safe
drinking water by 50%.

()  Free and fair trade among all nations.

{d) There are eight MDGs.

Which of the above statements are true ?

(1)  All the above (2) (a), (b) and (c)

(3) (), (9 and () (4} (a), (b) and ()

51. giere a9 faurmE =,
FERe HeAl TS T
(a) 2T FFE A FH HAN Tl
(by Uehedl foa AT AIEE FELS,
(c) wHEaE fEHuR S JeEtE g e
(d) VTS Teorg T SrgvaTE Yl .

(1) % (a), (b) T () (2) % (b), () 9 (d)
(3) T (a), (0) T {d) (4)  HH (a), (b) T (d)

Consider the following statements :

If capillarity phenomenon did not exist :

(a)  The blotting paper would fail to function

(by It would be difficult to use kerosene lamp

{(c)  The trees that we see around would not have grown on earth
(d) The water cannot flow through pipes in cities

Which of the given statements are correct ?

(1) (a), (b) and (c) only (2) (b}, (c) and (d) enly
(3)  {a), (¢} and (d) onlv {4}y (a), (b) and (d) only
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52. WIS R #lY su),

(a) HUTH AUTVRR (W) B A= SREATSAl A THIE 360
(b) ST FOTH AU (FWA ) B FleT FVISE U TR (THE) e HHT 3. &
wIAwIH FHvR faum aie aeaiE sfifd 9 o srEed ?

(1) =2 arF FEE TR ST giee Je gu1 AT S 3.

(2) T AR TS SRS S IR AT Ieedl STERTE SR SR,

(3) fed a1 TER T gHL 9T % AR,

(4) TR I GG q RS weE g SR,

Consider the following statements :

{a) Penetrating power of a particle is inversely proportional to its mass.

(b) Penetrating power of a(alpha) particle is less than that of B(Beta) particle.
Which one of the following gives a correct picture about the above statements ?

(1} Both the statements are true and statement one is an explanation of the statement
two.

{(2) Both the statements are true and statement two is an explanation of statement one.
(3) Statement one is true and two is false.

(4) Statement two is true and one is false.

53. WEe Y Taard =,

(a) Wiem by A (c) did (d fem=
Jecdl FAATaR @Al waar fow

1) (@) (d), (), (a) (2} (d), () (b), @)

(3) (@) (b), () (d) ) (©) (d) (a), ()

Consider the following metals :

(a) Platinum {b) Gold (c) Copper (d) Lead
Their correct arrangement in the increasing order of density is :

(1) (e} (d) ) () (2)  (d) (e} (b), (a)

(3)  (a), (b} (¢), (d) @) (0 (d), @) (b

oAl HIATEIS! W /SPACE FOR ROUGH WORK
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54, CHEBRISHWAS IT4FoN 397 (SR ) HdUum FRIfHS HIG® HizhT1eF S
FIE TR HLARAT A TUTHAT Te o T HEA 8 fRiSafest 1948 & Te0
YEH HITGR 3T,

(a) <2 Tl TafaurEn Testifaes Tiom SRS AR,

(b) I AEH IRTH BT IACAES (lice) TROTHANS TR,
(c) SISt Uvadie Ml Said faus a7,

(d) TS SERE W8S Fa<d UEal (JUER) F% T AR
e v faEm T R 2

1) @3 @) @3
3 @ ©F(d 4 (@), (b} ()= (d)

Dichlorodiphenyl Trichloro Ethane (DDT) is the first chlorinated organic insecticide for

the discovery of its effectiveness as an insecticide Paul Muller was awarded Nobel Prize in
Medicine and physiology in 1948.

(a) DDT is effective against mosquitos that spread malaria.
{(by DDT is effective against lice that carry typhus.

(c) DDT has high toxicity towards fish.

(d) DDT is not metabolised easily by animals.

Which of the above statements are correct ?

(1) (a) and () (2) (a) and (d)

(3) (@) () and (@) ) (@), ®) ©and (@)

55. WStedd! HIVG faum @ T 7
(1) 6T B AFERE SEE (CO, LASER) STAR Ao Wiod qhe FL0AME] H% I,
(2)  TEfEw Y=g TR (MRI) THm=1 S9N S dardd YA sig rardis] het Sa S
M SeFS A1 AILS S ElL
(3) YT EYOUTE! AR TSR A0 ITATE AR ST
(4) AR (SONAR) THFHTEN START <ia =1 =G Hm= Yo Svararat el Sidl,

Which of the following statements is not true ?
(1) CO, LASER can be used for cutting stainless steel.

(2} Magnetic Resonance Imaging (MRI) is used for obtaining detailed images of the
brain and it does not use radiation.

{3) RADAR system is used to detect enemy’s missiles.
(4) SONAR technique is used to do gold plating on silver ornaments.
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56. TUEeAl SFifaT IE HEETHR fGuH AR -
(a) TvETSY STTET SR TORR STAvAT TSBa1 FHROTYE 3T
(b) TR TEATE) v ST AT i S,
(c) S YUY FRIRM NS TS @ S TAR Fr.
TBOE! RITR/RTE! e/ ey SRieR sRyamee ?

(1} (a) Tk (2)  (a) | (b) "R
(3) (&) B 4 (a), (b) ¥ ()

Following are general statements about water drops.

(a) Surface tension is responsible for the spherical shape of the water drops.
(b) Even in the absence of gravitation, water drops have spherical shape.
(¢) Formation of water drops occurs, if mass of the water is stretched.
Which of the above statement/statements is/are correct ?

(1) (a) only ; (2) (a)and (b) only

(3)  (¢) only (4} (a), (b) and (c)

57. STSAIOTEAHN RES TGO (SR Gy fHedad.  YeaeTd 4 avadien @iereh!
I RN I ?

(1) TEafg=n (2) SedtEa (3) Hes (4) WA

Botanically fibre plants gives bast fibres. These are actually which of the following parts
of the plants ?

(1) Phloem (2) Xylem (3) Roots (4) Leaves
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58. & il F{an Fieamed F19 G e ?
(a) I %@ %Al (White Revolution) < SIH HHAM.
(b) 9 ag@E FE 49 TEO T Fyed g B,
() o mum ‘'t gy fa MR FHE ol gy HEed el
(d) A 4w T
(e) I 9A fayIoT WEM v S W HEd erE i feered e,
() el GuTe WSk FAfaTaw e 98t g el |
1 (9 (2) (d) (3) (@ (4)  =TOTEr TR
What is not true of Dr. Verghese Kurien ?
a) He is regarded as the father of White Revolution.

(

(b) He spent most of his life at Anand and was associated with Amul
(¢) He used to say “I don’t drink milk as I don’t like it”.
(
(

d) He was a Keralite.
e) He was awarded with Padma Vibhushan but not Magsaysay award.
f) He was instrumental in converting buffaloes milk into powder.

(
1 o) ) (d) 3) (o) (4) None

59. Wiee fawaE fa=m a4
(a) T AT SEST STANNEIAR Al HIORIS I,
(b) 3 Al FANHIEIe Al Fowele Jfgeien s wr=n st el 9t €% v,
T TAR 8IS Uit HSTT YT 2% IFd.
ST G0 Y
(1) <= foum sier 9 g faum ufen faams @ e o
(2) <=l T Rl R
3) = faum e wig g faur vfeewn faurm arg weie .
(4) dfed fayum sHeR g T T

Consider the following statements.

(a) Cholesterol packaged in High density lipoprotein is called bad cholesterol.

(b) High density lipoprotein builds up cholesterol and cause blockage of arteries. It can
also lead to plaque formation and start atherosclerosis.

Now state whether.

(1) Both the statements are correct and second is the correct explanation of the first.

(2) Neither of the statements is correct.

(3)  Both the statements are correct but the second is not the correct explanation of the
first.

(4)  The first statement is correct not the second.
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60. WSS GUTHIIH] HIoTd fagTa a2 ?

Which of the following hormones is odd ?

(1) Glucocorticoid (2} Progesteron (3) Testosteron (4) Insulin

61. WHBIH! I UHARTHH HI-HeeX Id Tl 950 7
(1) % (2) <HoTHE - € (3) WA (4) wHaEH

Which of the following may be called as co - factor of an enzyme ?

(1) Iron (2) Vitamin - D (3) Proteins (4) Carbohydrate

62. TAMG: fhsdiHYa Eeious! Fe< Meul §d T@) ?
(1) st (2) qiF sfHe 3y i (4) W&

Generally through kidney which of the following is not filtered ?

(1) Ammonia (2)  Uric acid (3) Water (4) Sugar
63. HDVEE A TSNS T FET AT ARG FEGT o o 39T R
YT KT T4l
(1) == (2) wa-uF fagm
(3) 99 (4) wE-ary fam

Coal can be made more efficient and cleaner fuel by converting it into
{1) Liquid form (2} Liq - solid mixture

(3) Gaseous form (4) Liq - gas mixture

HoAT AT S /SPACE FOR ROUGH WORK
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64. el gen Sufie 3ama o

is a natural drug.

(1) Morphine (2)  Ampicillin (3) Chloroquinine (4) Phencyclidine
65. YU 370 SBTEN Uh{Ad TS ST

(1) Yvaiadis (2) &I

3y fg3mm : (4) 99 S afed

Atoms are held together in a molecule by

(1) Intermolecular forces (2} Intramolecular forces

(3) Dipole - Dipole forces (4) Van der Wall's forces

66. el SIH IEH, HTE S A @ UF 9 9, Seed 99y AiTeIeEs e
TEM. GG HIVA A a1t A9 Tl 2

(1) eEgEE (2) TR SEARIEE

(3) rIEeA (4) FET SRS

Potato Chips manufacturers usually flush bags of chips with some gas to prevent the
chips from getting oxidised. Which of the following gases is used for the purpose :

1 Hydroeen 2} Sulphur dioxide
yarog P

3 Nitrogen 4 Carbon dioxide
g
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67. Tzl HYSAER TSAH TLUTE] S Y] Sidegie] Biedt quiad (fee s=q) gl
U Yaenad T2 {qeet gt N Sroag auted (e 9rs) B FRen -

(1)  wE Frre: afgs o, (2) W fraa: sifass ar.
(3) &Y RET® L. (4) o T Tl a9 A

A stain of curry on a white cloth becomes reddish brown when soap is scrubbed on it. It

turns yellow again when the cloth is washed with plenty of water. It had turned reddish
brown because :

(1) Soap is basic in nature (2} Soap is acidic in nature

(3) Soap is neutral (4) None of the above

68. R FTAML] HREST €O WS o AHE FHITH 79% TS S0 219% STt Tt Hivwr
eI 25° HoH e Td Y R Tead] BIe 2

(a) SIS, FRO @S TEHA TEST G4 SRd AR,

(b)  TEEINA, FRU TR FRGHH ATHS JeT HHT 7L

(c) Tio anifin g Sreiel TR dee e TEe.

(d) FE 9T B Tl BT T B WEY A HL.

(1) (a) A (b) (2) (o) s (d) (@) (a) wH 4 (b)) BH

If balloon is filled with dry air which contains mixture of 79% N, and 21% O, at 25°C
then which component of the air will effuse out first ?

(a) O, because it has higher mass than N,

(b) N, because it has lower mass than O,

(¢} O, and N, both will effuse out at the same time

(d) Whole air will effuse out and balloon will regain its original shape

1) @and®) (@ @and(d)  (3) (@ only (4) (b)only
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69. WOIGUH! G T BRI ?

(@) o by W () TmE g™
1) (), (o) 3T (d) 2) (a) wH
(3) (b) K 4) () W

Indicate which of the following is a pure substance ?

(a) Iron (b Gasoline (c) Cow's milk (d) Sea Water
(1) (b), (¢} and (d) (2) (a) only
(3) (b)only (4) (o) only

70, WIS HOR FoAar Jete 3178 ?
(a) WEF SAaq woft FTeA T ‘C - 147 =,
(b) HH Sa™ THE YA ‘C - 147 3Tl
(c) WE Sid HTE WG wid Hehal.
(d) o1l C- 14 TG T 5568 AT TEH Sl <A 'TE @EH AE C- 14" (H-14 2 219
gST) Harfeara.
() ¥ TEH YUATHIEA FIOHFAAR! AT AT,
(O T usd UhTwd, fed aH e wied.
(g) < I uere fammdie Fee iaiiys fifm.
1y (e 2 ® 3) (8 (4)  ProEr A

Which one of the following statements is incorrect ?

(@) Every living organisim takes C - 14 th'rough carbon.

{by Every living being has the same proportion of carbon 14.

(c) After death every living organ throws same percentage of carbon.

(d) After 5568 yrs of death half of C - 14 will disappear - which is called as half life of
carbon - 14.

{e) The method is used to get chronological evidence of archaeological remain.
(f)  This method was invented by F.W. Liby.
(g) He got Nobel prize in physics for this work.

M (@ (2) ©® (3) (& (4) None
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71. WAL [ERT W TR0 Ifee! fomR- R (S9RGa) saad i ?
(1) ¥R R & \ (2) wEL A

(3) WM ZD THR TH (4) <o oM

Who is the first non - Indian recipient of the Bharat Ratna award ?

(1) Martin Luther King (2) Mother Teresa

(3) Khan Abdul Ghaffar Khan (4) Dalai Lama

72. T4 OEQEl AT ALl TSAF FI0 FE Tl 2
(1) T Fars ramearsal ReReiar

(2) TS 3= TS HRITER

(4) TeTaa T TSHUIS AT B

Who can remove the Chairman of the State Public Service Commission ?
(1) The President on the recommendation of the Supreme Court

(2} The Governor on the recommendation of the High Court

(3}  The Chief Justice of High Court

(4) The Governor of the concerned state on his own
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73. YRAME TIAH WIOGUHRT R0 A Fied TATTE T8l 2
(1) forzm geiten fasm w=am
(2) IS WU @01
(3) WA
(4) T a1 it Twaeede sewtEn W e

Which one of the following is not r;'lentioned in the Constitution of India as a fundamental
duty ?

(1) To develop the scientific temper.
(2) To safeguard public property.
(3) To cast vote in the election.
4

4)  To respect the Constitution and its ideals.

74. cfeqor qd anfia g Heer (onfaar) ed Eeets IR fauE e TR ?
(a) TTEETFA T Sl HeY 1967 HiE Urd Hew Uhgd ol T,
(b) gL enfaarr=ar Heame Hew TEiH! TF 3.
(c) A & SNTEaH=AT1 &5 Harg yikadio e 3.
(d) STTHET TE HEH Q¥ Ied.
() @3  (2) w1 (b (3) W () (4) H (d)

Which one of the following statements regarding the Association of South East Asian
Nations (ASEAN) is not correct ?

(a} ASEAN was established in the year 1967 in Bangkok by five member countries.
{b) Singapore is one of the founder members of ASEAN.

(c} India is sectorol dialogue partner of ASEAN.

(d) ASEAN has ten members.

{1  (a) and (d) (2) only (b} (3) only {(c) {(4) only (d)
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75. WO [9uH a8l
(a) T Tend a1 erfERe yfafeier frag Jurmn guv fig ufzw e,
(b)  FoA I M METH @ HHITG F TS B
Tltots! v foem ater % ?
(1) = (a) (2) W= (b) (3)  (a) 3T (b) (4) IR AT

Consider the following statements :

(a) Tulsi Gabbard is the First Hindu woman ever to get elected to the US House of
Representatives.

(b)  She was awarded by Kuwait Army National Guard.
Which one of the above statements is correct ?

(1) only (a) {(2) only (b) (3) (a) and (b) (4) None of them

76. A freaiaune we Higs ' W S Heo I8 ?
(a) RO EE FAF Y F 9 OEE F WaH TEd.
(b) FRU @M ¥d T A NBW TR T Hlal T GAY AEHal g T

(c) HH AV d TH AU,
(d) RO A FIETR! TS T5F gATE (state religion) T &L
CONNCY @ (O (3) e wd ORNOEILEC

Why is Indian Secularism called as a mosaic frame ?

(a) Because in it various religions and languages flourish with freedom and dignity.

b Because in it all groups without losing their identity become a part of the composite
o g
culture.

(¢) It unites common masses.
(d) There is no state religion in India.

(1) (a) (2) (b) (3) Allthe above  (4) (a) and (c)
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77. IS Gaid Slaiyd [ - W die | WSSiH! S AEEd S 9 = IS hoel

(1) = FE (2) fasrd steTa

(3) st ® (4) AR TH®

James Bond is the most popular spy of the World | Who among the following has not
played the role of James Bond so far ?

(1) Sean Connery (2) Pierce Brosnan

(3) Daniel Craig (4) Ommar Sharief

78, hHIUICHT YEUS ‘SIS T Uit (T iR IEEA W) s WK 7

(1) o (2) I (3) TEe (4) W

Which city is called the ‘Queen of Arabian Sea” ?

(1)  Mumbeai (2) Cochin (3) Porbandar (4) Panambur

79. WHGYH! HIVET T TS Hald HH] T2 SO SN 3772 7

(1) e (2) oo (3) TEREA (4) Hepd

Which one of the following languages of the world has the least number of words ?

(1)  Tamil (2) Tirahi (3) Hawaiyan (4)  Sanskrit
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80. HERIE TS foeel Uitag Tagvweea v faum g 38 ?

(1)  Toreer vfivg sTeasti=gn T ST 50 25F ST Al d Tl TR

() TSea tfwg sieay snftn fawe wfice=n gaudi=n e Mefys’l 59w
fAdemgan =

(3) foea wfiede driqEer 3 wesar @ affds foaos fod? awy &9 wfag awg
STHAT.

(4) Toee sRue=a sreasian eyl 5 auiEE! oTEd.

Which one of the following statements is incorrect in respect of elections of Zilla Parishads
in Maharashtra State ?

(1) The 50% seats of Zilla Parishad Presidents in the state are reserved for women.

(2) The elections for the posts of President and Chairpersons of the subject committees
are conducted by the Collector under the supervision and control of the State
Government.

(3) The President of Zilla Parishad is the ex-officio Chairperson of the Water and
Sanitation Committee in Zilla Parishad.

(4) The term of office of President of the Zilla Parishad is of 5 years.

81. WSIGUSHI RV T TodH WA gegay a9 fawgs 9w ® $0 2

(1) Ted (2) ufvaw s (3) TBRIE (4) T

Which one of the following states, is the first to scrap the “SEZ” policy in India ?

{1) Gujarat (2) West Bengal (3y Maharashtra (4) Goa
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82. T IO WIHIGUH! I H&a AfHHR Fafl e ?
(a) W& Al (by sfuea sty
(c) THSERIT TR (d) wEoTHT Al
1) (@) (), (d) (2) (b)) (d) (3) (@) b} (0 (4)

What is the main jurisdiction of the High Court ?
(a) Original jurisdiction (by  Appellate jurisdiction
(c)  Supervisory jurisdiction {d) Advisory jurisdiction

(1) (@) (), (d) (2) () () (d) (3) (@), (b)) @) (@ () (d)

83. Y5, WHIF AGHAT fHal owhi TS arges T g sitereiien ufifeerdien die Svaranat
HEA e wWEATe wiv fady Afusr 49 sma 7 9 wta faen
(a) g T T FRENME 9eEe AT GeHld ST WS $E 960 R W,
(b) S A FEFN ATFHR IR Hg AET S T3 TR,
() T gLl s AR [FTaE §HE HEL FE WA

(d) T G FEE T8 T SRR FHAR I HU G0 ART FE
e

(1 @) © (2) (@) (b) (d) (3) (@), (b) (c) 4 (b} (0), (d)

Which one of the following extraordinary powers, the Indian Constitution provides to the

Centre to deal with an emergency arising out war, external aggression or armed
rebellion ? Select the correct answer using the following codes.

{a} Centre can modify the provisions relating to the distribution of revenue between the
Centre and the states.

{b)  Centre can give directions to any state as to the manner in which its executive powers
are to be exercised.

(¢) Parliament can make laws with respect to any matter enumerated in the State List.

(d) Centre can order the reduction of salaries of state employees, including the judges of
High Court.

D @ © (4 (2} (&) (b), (d) (3) @), b)) 4 0 (d)
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84. Tl smm I veEH W
U ITHET R TE oF HaHl Thsvaedd aa) $heedl QAT hlhao qeet seeed! 312
1 = (2) e (B3) S (4) =@

Fill in the blank appropriately.

A trap laid for apprehending a Govt. employee taking bribe used phenophthelein powder
coated currency notes. A solution of sodium carbonate sprinkled on the notes must turn
for lending proof for the crime.

(1) blue (2) purple (3) red (4) black

85. WNHIE Teosare] Af¥Te d Sidie 3ad (ease= Sear] Ii= Siredl oEl. (47 g4 e

et ®. - 1 9T AT . - 2 WK
(a) T=IT@E Y () R IR FEE 1935
(b) AATSAR TAGHA (i) ferdver s
(c) AN ANTERE e (i) AFSSH T ‘
(d) HEEE TSTSH (iv) STHRGRE! =T
gy :

@ (b) (o) (d)
1 @ Gv) (@5 )
(2) (v) () () (D)
@)y () @ (v) (i)
@ O @) (@v) (i)

Match the features of Indian Constitution with the sources borrowed from different
constitutions of the world. (use correct codes)

List 1 - Features List 2 - Sources
(a) Office of the Governor (iy Government of India Act 1935
(b) Judicial Review (i)  British Constitution
(c) Directive Principles of State policy (iii) Ireland Constitution
(d) Parliamentary System of Government (iv) American Constitution
Codes :

(@ 0 ( ()
U ® G G @
(2} Gv) @) @ ()
@ @ @ @) @
4 @ @) @) ()
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86, i@ (IR TIE SIAHId g, ATHEES IEIaad! i @Y ATE 7
(a) T Afolas e T BF AeEs W,

) WM W YA - (o) RS e Woregd © O Wiedl HigH 3R o,
(c) T TS AMGITRHE 9 ¥S JeIoqsHha sy AT fHafaet.
(d) & FIEee fhreaer ureTg o,

(¢) T WIS YA BIS T8 & f Hi T rera.

(f) T AT I HF A AR S Al TAEE1 g1 el uig 8 @Eraied e sl S
A AR AL,

1 (© (2)  (d) (B) (e 4) ®

Oscar Pistorious was recently in the news. What is not true of him ?

(a) He is known as Olympic “Blade Runner”.

(b) He shot dead his beloved on a Vatentinc day.

(c) He participated in London Olympics and won awards at Para Olympic Competitions.
(d) He is a runner from the United Kingdoms.

(¢) He was born without bones in his lower legs and runs with carbon fibre race blades.

(f)  He claims that he killed his beloved thinking her to be a burgldr however it is charged
that the murder is a predetermined plot.

1) () (2) (4 (3) @) (@

87. TM 2011 = TTIUHIER WS qaid it Sd e THSo! U Ve ei=aT ot Brha el
SHHTE IO 37184 ?
(1) HeFE, fedh, FoR, ITER, SenaER
(2) Ha3, fecot, wowmdl, AHE, STOR
(3) T, e, ITeR, s, RaeR
(4) eI, faee, BeUeE, SO, STEHaIeR

What are the 5 most populous cities of India in the decreasing order of their population as
per 2011 Census ?

(1) Mumbai, Delhi, Bangalore, Hyderabad, Ahmedabad
(2) Mumbai, Delhi, Calcutta, Chennai, Bangalore

(3} Mumbai, Delhi, Bangalore, Ahmedabad, Hyderabad
(4) Mumbai, Delhi, Hyderabad, Bangalore, Ahmedabad
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88. TGN (AT YEAHSA §eadl 9% Iehd oL
(a) TeFww fohen faum foe=n < ety aewit o ot Fa

(b) TAISTAT 7Y TAHY TeATAS ThR T TBT TR,
() faum g sifervars 30 o e

(d) T FEHEAAT QI HHIRI HAevary 3T A He.
LD

1) @ ® 2) (@), (b)) 3 )@ 4) (@) (9

The Chief Minister of a state can be removed if :

(a) a resolution is passed by 2/3rd members of the Legislative Council or the Rajya
Sabha.

(b)  in the opinion of the Governor, there is a breakdown of the constitutional machinery
in the state.

{c) ano - confidence motion is passed by the Legislative Assembly.

(d) ano - confidence motion is passed by both the houses of State Legislature.

Codes :
(1) (a), (b) (2)  (a), (b), {d) (3)  (b) (o) (4) (a). (d)

89. WGIGUHR! FIVN AF], T, Tpaed! Aael g9 2012 - 2013 AL V=] "ogdl ?
(1) HEPR F2des (2) ORI FIoT

(3) W% 5= I (4) TRNE SmYAl &

The year 2012 - 2013 was not a centenary year for which Personality / Institution/ Movemnent

of the following ?
(1} Cooperative movement (2) Yashwantrao Chavan
(3) Bombay High Court (4) Maharashtra Public Service Commission
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90. 73 TG HR THR! Y= Taasa=Al FIv] aigal 19 el e

(@) 2-3 WG =

(b) fAfrae srfwe

(c) Tm HUH iy 9 =wwit

(@) Tae framm wfad

1} (93 (d) (2) (&) ¥ (b) (3) (b) A (d) 4) @3

42

According to the 73rd Amendment which of the following are optional provisions left to
the state governments regarding organisation of Panchayati Institutions ?

(a) 2 -3 tier structure

(b) Fixed tenure

{c) Role and scope of Gram Sabha
(d) District Planning Committees

(1)

() and (d) (2) (a) and (b) (3) (b)and (d) 4) (a) and (0)

91. wHerre foce 9ftwe snfor g=me wffdt s weifisraifaeg=n Afavarg U&= I
WFGUET FIv faum g= AR ?

(1) FomE stfavammen sud g aiec=r g 9= fFaM 1/3 9= 92 T80 ol
ifest.
(2) SfovaE 309 TN BAERGAT U HEEe 2/3 Sederd] STl STHd.

(3) IR ATV SUATHIG Ao 91 aeaevsl fSreel ufived T& SrEsr
aTfereRTl Shelcs STEATE.

(4) HiEer o Se{oshd i Fuddiictg for 96 o[ stfaver U [haH 3 /4 aeeai=a
HEAE@N TRId w0 AEvEsd 9.

Which of the following statements is not correct regarding no confidence motion against

the office bearers in Zilla Parishad under Maharashtra Zilla Parishad Panchayat Samiti

Act ?

{1} The motion of no confidence should be moved under the signature of at least 1/3 of
the total strength of Zilla Parishad.

(2) No confidence motion should be passed by at least 2/3 majority of the total number
of members.

(3) The Chief Executive Officer of Zilla Parishad can only preside over the meeting
called for the passing of the no confidence motion.

(4) No confidence motion against the Chairperson of Women and Child Welfare

committee is required to be passed with 3/4 of the majority of the total strength of
the Zilla Parishad as a special case.
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92, FE Biedar AENTE AeAeEr Fruifa s |
(1) weray
(2) THdrE WSl AETEd
(3) & Y fehan It 65 9N, W ot o Al
) U 9N fohal STt 62 96, & St oS W

(4

The Chairman of the Union Public Service Commission holds office for a period of :

(1) six years

(2)  during the pleasure of the President
(3) For six years or till the age of 65 years, whichever is earlier.
(4) For five years, or till the age of 62 years, whichever is earlier.

93, WRAE TR 3T HASTH HeHS HCHUTSN TahT=I TOISuh] IV Tl SATed 7
e I AT o Heha (ESL.
(a) qod TR STHTTEY TE! AT AT AITSA <16 | I&haTe.

(b) TSVA TERI FHGATE A, AHIS! FAred AAST TWHRY HIG I,

(c) TS S FA IgHan (S HqUl WS GEIA S1eAl T S 318 ), AT TLaIvmar

(d) e =EeaTE SRR YR 7 UrEddl O FEed a1 ghie Aaesani
YR HEE IF THA.

1) @ (b) (2) () (b), (d) (3)  (a) (o) (d) 4 (b), (), (d)

What are the main provisions of constitutional remedies available to Indian citizens under
Indian Constitution ? Select the correct answer using the following codes :

(a) The citizens can move the courts for enforcement of their Fundamental Rights.
(b)  The Supreme Court can issue necessary writs for enforcement of these rights.

(c) The Parliament can suspend the right to constitutional remedies by two - third
majority, which must also be the majority of its total membership.

(d) The parliament can empower the courts, other than the Supreme Court, to exercise
powers for enforcement of these rights without adversely affecting the powers of
the Supreme Court.

(1) @, (b) (© (2)  {a), (), (d) 3} @ (@ (d) @ (b)) (d)
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94, IRARIG SIFI@ 9 SIHEH & 9 WO SOl qree gwifaond e ?
(1) AT HEEHE SR (2) hi-sifeear AHte SragEAT
(3) WrEre THEERT SIe (4) AT FfEe IAE =

The office of Lokpal and Lokayukta in India resemble which of the following ?

(1) Parliamentary Commissioner of India (2) Ombudsman in Scandinavia

(3) Prosecutor General of Russia (4) Council of State in France

95, TENEM % 43 el Tean dhEeyit AR, 8T aH9eE IEH ST -
(a) SITHFa THAT & faska SogrEEl.
(b) o= TR " A T fyvaEl.
(c) AT HUd S SHUATHIS!.
(d) TH THEET GEIFHES TTE UATERI.
Fioit R faam/ AU gRie/ g TR/ aRd ?
(1) (a) 3 (o) @ @ @ (© (4) o

It is illegal to drink and drive in Maharashtra and one also needs a permit :
(a) to buy liquor from an authorised shop.

(b) to consume liquor in a hotel or a bar.

{c) to possess it in your house.

(d) to carry it from one place to another.

Which of the above four statements is/are incorrect ?

(1) (@ and (9 2 ) () © (4) None
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96. %= AETA TE Hoed 92 T WHT 1Y sEd ArdaHl g WY 6T ?
(a) & AR 1 SHER 2013 Ut gE FA
(b) YR JETeR & yuwa: 51 faeena 3t 20 fegmd & Sat e,
(c) T AT AT BIMUNHTS UGS 9 HFHA V@ Whd Wes W .
(d) 91 ATER TR § Tesed] AT @) i e

() v feash & A1 WENIEW Y€ Fot Aol o fGawm g ste=aw wifiaa! 99 gl &1 7™
1) (b 2 (d) (3) (o) (4) TR FIVRE AR

What is not true of the Direct Cash Benefits Transfer Scheime launched by the Central
Govt. ?

(a) It was launched on 1% January 2013.
(b)  The pilot phase has been launched in 20 districts scaling down the number from 51.

(c) Herein cash will be directly transferred to the Aadhaar linked bank accounts of the
intended beneficiaries.

(d) TItis supposed to prevent corruption and leaky distribution.

(e) On the day of the launch the hurdle in Maharashtra was stated to be inadrjuate
number of Aadhar - linked accounts.

1 O (2) (&) (3) (e) (4)  None of the above

97. T TMHETYE Eeeust wivd foum @ oR ?
(1) AOALR. P e w9 3D
2)  muALf. wea faefaa Suim ot 24
(3) FUALF. FEd qTH UK & <
(4) 3INUALT. e UL Aeadd] SHE o <@

Which one of the following statements is correct, regarding the International Monetary

Fund ?

(1) IMF grants loans to any country.

(2) IMF grants loans to only developed countries.

(3) IMF grants loans only to member countries.

(4) IMF grants loans to the central bank of a country.
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98. Wore faa™ &L

(a) 1 SFERI 1950 TS Foeaeh Siel JFRal QORl I 81 T2H <91 Bl
(b) T TzEEme el 9fivede SHe FH SeREde! 9Ha HEY Haet w.
Tt S/ /A SeT o ?

(1) W (a) (2) e (b) (3)  (a) 3 (b) (4) IR AT

Consider the following statements :

(a) India was the first country to recognize the people’s Republic of China on 15 January,
1950.

(b) India objected to China’s permanent membership in the Security Council of UN.

Which of the statements given above is/are correct ?

(1} only (a) (2) only (b) (3) (a) and (b) (4) None of them

99. R TV RS LI V[ AE! e Ha= Aaedr Eaee ol a8 o e qogal
FOT AR

(1) Tafuarmgr s

(2) Tafenma wedE

(3) fafemme sreen stme WAt ey SEd
(4) TR T a1 SITd

If an election to the post of the President of India is set aside by the Supreme Court then
the orders made by the incumbent until then : '

(1) Become invalid
(2) Remain valid
(3}  The Supreme Court decides whether they are valid or otherwise

(4) Itis decided on case to case basis.
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100. Y&te faum gerEra.
(a) TS WHTEN FEE Al SeEel JEasrl M Wod HAHean RImd Sl 4
HITE YHE FIF1 T T8 8T F& U ST HREHEd a5os! T3,
(b) ATl .. iHH, S HaE AEEGAd qog G TRl e Al Al Sl FE ded i
WTE 1§ =Tea g <€ Ffv=a S TR 1S Teed.
(1) (a) 9 (b) Trat IS 2% 2) (a) T (b) T TF
(3) (a) TR T (b) TF M () (b) S TG (a) TIF ME

Consider the following statements :

(a)

Nalinis death penalty for Rajiv Gandhi’s assassination was commuted to life
imprisonment on the basis of a recommendation of the state cabinet and an appeal
by the Congress Chief Sonia Gandhi.

Justice K.T. Thomas who headed the Supreme Court bench that confirmed the death
rap now feels that it would be incorrect to hang the remaining three sentenced to
death for Rajiv Gandhi’s assassination as the antecedents, nature and character of
the acused were not considered before.

Both (a) and (b) are correct {2) Neither (a) nor (b) is correct

(a) is correct {b) is not ' (4) (b) is correct (a) is not

-00o0-
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ol — (= 1 767 0Q....)

@®) wifmdne fafea Fwowm faftte Ire = =W (TF 5%) a0, wyiasafiiEe Imusme
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